TEST 1

CUMLE TAMAMLAMA

1. - 10. sorularda, verilen ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

1. If you are not certain that you are getting enough
nutrients from what you eat, ----.

A) you could have fainted at the school and sent
to hospital

B) you may want to take a daily vitamin pill as they
provide you with the necessary amount

C) you are eating too much fat and don’t care
about your weight

D) so fast food doesn’t help in the long term if you
consume it excessively

E) when it would be more sensible to begin a diet
to keep fit

2. We all thought the boy wouldn’t keep up with the
rest of the class ----.

A) that what | want to tell them is that the teachers
need to be careful about them

B) because he will work hard and leave everyone
behind

C) when everything hopefully changes for him for
the better

D) but it turned out that we were all wrong
considering his success in the exams

E) and they look down on other people so often
that everybody is intimidated by them

It is likely that the marathon race will be

cancelled ----.

A) in addition, there are a great number of highly
competent marathon runners

B) that’'s why it is becoming more popular day by
day

C) since many runners have refused to participate
because of the virus

D) let alone its vigorous effect on TV shows

E) rather than the competition among highly

trained athletes

There is not any disharmony between sense of
humour and respectability, ----.

that's why there is prejudice against humour
among many people

consequently people are reluctant to express
their views on the issue

therefore, it's impossible for a person to deal
sanely with his problems

in addition, they essentially contrast with each
other in many other ways

despite the almost universal tendency to
assume that there is
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CLOZE TEST

11. - 15. sorularda, asagidaki parcada
numaralanmis yerlere uygun diisen s6zciik
ya da ifadeyi bulunuz.

16. - 20. sorularda, asagidaki parcada
numaralanmis yerlere uygun diisen sézciik
ya da ifadeyi bulunuz.

Fish is one of the most important sources of protein for
humans, and most fish (11) ---- as food. (12) ---- uses
of fish and fish products include the manufacture of
nitrogenous fertilizers (13) ---- fish and fish scraps, and
the extraction of fish-liver oils as one of the (14) ---- of
vitamin D. Manufacturers sometimes use fish scales in
(15) ---- artificial pearls.

11.
A) are using B) using
C) used D) are used
E) have used
12.
A) Subsidiary B) Primitive
C) Enthusiastic D) Descriptive
E) Comforting
13.
A) from B) against
C) below D) near
E) nextto
14.
A) plates B) sources
C) purchases D) layers
E) fusions
15.
A) make B) to make
C) making D) made
E) to making

The five countries of Nearer Asia were not well-fitted (16)
---- centres of early civilization. They possessed (17)

---- great rivers or fertile plains to support a large (18)
----. Armenia, Asia Minor, and Syria (19) ---- into small
districts by chains of mountains. Iran and Arabia were
chiefly (20) ---- deserts.

16.

A) to become B) become
C) became D) have become
E) is becoming
17.
A) any B) some
C) every D) no
E) none
18.
A) correction B) aviation
C) population D) celebrity
E) sanction
19.
A) were broken up
B) have broken up
C) will be breaking up
D) are breaking up
E) are being broken up
20.
A) barren B) hasty
C) awkward D) selfish

E) arrogant
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ANLAMCA EN YAKIN CUMLE

9. She refused to answer the police officer’s
questions, which was a big mistake.

She should have answered the questions
asked by the police officer.

She must have answered all the questions
directed to her by the police officer.

If she had answered all the questions, the
police officer wouldn’t have taken her to the
station.

She was so calm when she was answering the
questions that the police officer was convinced
that she was not guilty.

How she managed to avoid answering all of
the police officer’s questions is still a mystery.

10. There were so few listeners that it was pointless
for the speaker to continue his lecture.

A)

B)

The speaker went on his lecture although
there were a few listeners.

There was no point in going on his lecture for
the speaker due to the fact that the number of
the listeners was very low.

The speaker wanted to continue his lecture as
the number of the listeners was higher than he
had expected.

It was not possible for the lecturer to go on his
speech since everyone had left.

The reason why so few people attended the
lecture was the listener’s attitude.

DICTIONARY
1. hazardous tehlikeli
2. severely ciddi bir sekilde
3. species tlr
4. several birkag
5. separate ayirmak
6. identical birbiriyle ayn1
7. distinguish ayirmak
8. spy casus
9. wrap sarmak, katlamak
10. attempt girisim
11. rip yirtmak
12. tribe kabile
13. confer sunmak, vermek
14. generous comert
15. admire gok begenmek
16. apply bagvurmak
17. requirement kosul
18. application basvuru
19. view gortis
20. visibility goriis mesafesi
21. dare kalkigmak
22. perceive algilamak
23. expose etkisine agik birakmak
24. convince ikna etmek
25. attend katilmak
26. attitude davranis, tavir
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PARAGRAF TAMAMLAMA

Most veterinarians say dogs and cats have
allergies. Pollen from trees, weeds, and grasses,
as well as dust mites and food can bother our
furry friends. ---- Similarly, it’s entirely possible
that our pets can be allergic to us.

A) To be sure it’s an allergy, a laboratory would
have to do a test.

B) Some animals seem more sensitive than
others.

C) Humans can be allergic to cat or dog.

D) Butallergies can occur in all breeds as well as
in mixed breeds.

E) An antigen is something that is foreign to your
body.

Octoberfest is a two-week festival held each
year in Munich, Bavaria, Germany during late
September and early October. It is one of the
most famous events in the city and the world’s
largest fair, with some six million people
attending every year. ---- They are also called
Octoberfest.

A) Local Munich breweries serve this beer in a
beer tent which is large enough for thousands.

B) The date for the Octoberfest has been moved
by one week.

C) Beer plays a central role in the fair. It is
consumed in great amounts.

D) Other cities across the world also hold fairs,
modelled after the Munich event.

E) Visitors also consume large quantities of food
during that time.

---- However, the lengths of the Martian seasons
are about twice those of Earth’s, as Mars’
greater distance from the Sun leads the Martian
year to be approximately two Earth years in
length.

A) The atmosphere of Mars is very different from
that of the Earth.

B) Mars has two moons, Phobos and Deimos,
which are small and oddly shaped.

C) Of all the planets, Mars’ seasons are the most
Earth-like.

D) Mars is home to the highest mountain in the
solar system.

E) Mars is currently host to four orbiting
spacecraft.

---- Prior to the Second World War, developments
by the Americans, the Germans, the French and
the British led to the first real radars. Zoltan

Bay, a Hungarian research engineer, produced a
working model by 1936.

A) Radar systems must overcome several different
sources of unwanted signals.

B) Another form of distance measuring radar is
based on frequency modulation.

C) Several inventors, scientists, and engineers
contributed to the development of radar.

D) Modern radar systems perform the equivalent
operation faster and more accurately using
computers.

E) Signal processing is employed in radar
systems to reduce the interference effects.

MODERN ENGLISH

20

DO & CHECK -1




TEST 8

CEVIRI

1. - 5. sorularda, verilen Tiirkce ciimleye
anlamca en yakin Ingilizce ciimleyi bulunuz.

Bazi elestirmenlere gére okuyucu sayisi bir
yazarin basarisini degerlendirmede iyi bir
dlcuddr.

A) Some critics think that the more successful a
writer is, the more the number of readers are.

B) Asfar as some critics are concerned, a writer’'s
success goes in proportion with the number of
readers.

C) According to some critics, the number of
readers is a good measure in evaluating the
success of a writer.

D) According to some critics, in order to evaluate

a writer's performance successfully, the number

of readers should be taken as a measure.
E) According to some critics, a writer's success
depends on the number of his readers.

Elektronik 6grenme, 6grenim aracinin kitaplar
yerine bilgisayar teknolojisi oldugu bir egitim
cesididir.

A) Education in electronic learning is achieved
through computer technology rather than
books.

B) Computer technology is a means in electronic
learning where no books are used.

C) The type of education where the medium of
instruction is computer technology instead of
books is called electronic learning.

D) Electronic learning is a type of education
where the medium of instruction is computer
technology instead of books.

E) Itis the computer technology rather than
books that is used as a means of instruction in
electronic learning.

1986 yilinda Cernobil niikleer santralinde
meydana gelen kaza, tarihteki en kétii niikleer
felaket olarak gériilmektedir.

A)

The accident that occurred at the Chernobyl
nuclear power plant in 1986 is regarded as the
worst nuclear disaster in history.

The accident which occurred at the Chernobyl
nuclear power plant in 1986 is unquestionably
the most terrible nuclear disaster in human
history.

In 1986, an accident occurred at the Chernobyl
nuclear power plant and it is regarded as the
worst nuclear disaster in history.

The worst nuclear disaster in history was the
one that occurred at the Chernobyl nuclear
power plant in 1986.

The accident having occurred at the Chernobyl
nuclear power plant in 1986 is one of the worst
nuclear disasters in history.

Bdyle siki bir diyete baglamaya karar vermeden
once bir doktora danismaman bliylik bir hataydi.

A)

It was a huge mistake for you not to consult
your doctor before you started such a strict
diet.

You made a big mistake when you didn’t
consult your doctor as to whether to start such
a strict diet.

When you decided to start such a strict diet,
you should have consulted a doctor.

It was a big mistake for you not to consult a
doctor before deciding to start such a strict diet.
It is wrong of you to start such a strict diet
before consulting a doctor about it.
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